SEAFORD




(1) 1 737X367X12 12) 1 738X16X16
(2) 2 738X36X16 13) 1 738X36X16
(3) 1 1050X400X 40 14) 1 734X156X12
(4) 1 1050X400X 40 15) 1 350X110X12
(5) 1 737X367X12 16) 1 350X110X12
(6) 1 738X40X36 17) 1 704X347X2.75
(7) 1 737X331X4.75 1 695X110X12
2 738X382X16 19) 1 338X80X12
(9) 1 738X36X16 3 265X102X32
1 738X36X36 (21 1 738X40X16
11) 1 737X160X4.75 22 1 737X367X12

.‘ = = = ‘0‘0. = 4 PN




Ax21 B x8 C x20 Dx6 E x6
» ,
57 D \\\\\\\\\ >
Q 5% =)
#3.5%x12 mm M6x%12 mm @J6x15 mm @6.3%x35 mm J15%x9 mm
Fx6 Gx12 Hx12 Jx1 Kx?2
‘)‘)‘)‘)‘)‘)ﬁw
@4%x35 mm @4x12 mm M6x8 mm 4 mm 350 mm
Lx2 M x 2 N x 4 Px4 Qx6
(D)
=
N @
@ M 2 @
M6/@13 mm 80%x32%x18 mm 30x30%x15 mm @20 mm M6 x10 mm

3/18




- 9

< (W)m>

@4x12 mm

@3.5x12mm

K x 2

IS
~ 1S
™
> %@ 2
- S
=
IS
S S
v, 3
IS
< 1S
x «s@.y o
< ® 5
[s2)
Q

4/18



Hx 3 Ix1 H Q

© ©

1 = B
M6x8 mm 4 mm M6x12mm M6x8mm M6x10mm

@)
a@® =

M6x12mm M6x8mm M6x10mm

80%

5/18



SNE)

T @p

G )

M6x12mm M6x8mm M6x10mm

Jx1l

<

6/18

Jx1l

m

4m

Cx4

o
)

@6x15 mm

H x4
%

e
@y = 0
£
£
[e¢]
3
©
=




H
=
M6x8mm M6x10mm

B

\ e
) @ “““““ L




9 Bx2 Cx2 Ix1 B H Q
& ) &
\\\\ “% \Yé

B g /N E X

M6x12mm M6x8mm M6x10mm

M6%12 mm @6x15 mm 4 mm

10 Cx10 Ix1
&

@6x15 mm 4 mm

I"'.III
I
=

=

iiis

8/18



11

B x2

M6x12 mm

=
-

Aoy

I
E
] II

B  H Q
AN ERX

(G4

M6x12mm M6x8mm M6%10 mm

12

H x4

@

M6x8 mm

]
| i ===

(i1

=H
1|g!!.!.!|5|aﬁ‘|i|il
\an ==
== i
1

=
-|||=|—I f
|:|!|_|_ HEE

|l””l“| .m-lmw
AN

9/18

AN

M6 x8mm

M6x10 mm

80%




13 AxS o=

1018



15

G x12

@4x12 mm

o=

@3.5x12mm @4x12mm

1118

H x 12




Ix1
Qx6

M6x10 mm

4 mm

100%

G x 12

DXx6

o=

'
Y,

a6
3x35 mm
/7 7 //g/
=
7

7
077
27777
////// % 77
770 % 77777
12,272, 77707
000 0 77 7
///////// % 70777
2572, 77 7702, 77
000 % 77 %
A 7707 % 7777
7 777, ///////
7777 /////////////
G2 //’/////’//’//’/ V%
///////// ////////
7707 //////// 77
/- //////// A
//////// 7%
72007 G
7. 07
24
%%

12/18




19

3

©

00—

20

1318




21

@4x35 mm

-+ IS

mmmm@
F

Q0
0"
: ! : ! Ax4 M x 2 P x4 0 @:
57
@3.5x12 mm 80x32x18 mm @20 mm

1418




L+

K2 x2

Ax4

@3.5%x12 mm

N

<

(¥

(o

)

—_—
o
oy

1518



16/18






21

1818



	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)
	1酒架 说明书 Model (1)

